
Name: ______________                                    5-a-day                                      Foundation Plus

1st August                                                     

Calculate angle y

Describe fully the single transformation 
that maps shape A onto shape B.

Reflect shape B using x = 4 as the 
mirror line

There are three colours of beads in 
a bag.
The ratio of red to yellow beads is 
8:3
The ratio of green to yellow beads 
is 9:2.

What fraction of the beads are green?

Work out the reciprocal of 20.
Give your answer as a decimal
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H sin OH

0 Sing f
y Sin f 22.020

Enlargement
scale factor tz
about 1,5

8

See shape C

Identify centre
of enlargement

R 4 G
8 3 27

z 9 49
16 6

G 27

I
20 0.05



Name: ______________                                    5-a-day                                      Foundation Plus

2nd August                                                     

Calculate the area of this quarter circle

The time, T, taken to serve the 
guests at a wedding is inversely 
proportional to the number of 
waiters, w.

Explain why.

The density of Nitrogen is 

1.25 × 10⁻⁶ kg/cm³
Calculate the mass of one cubic 
metre of Nitrogen.

Is this triangle a right angled triangle?

The time is calculated by 

!

Work out how long it would serve 
the guests if there were 45 waiters.

�

�

© Corbettmaths 2015 www.corbettmaths.com

2
IT r it x 52
4 4

19 6 cm

The more waiters
the less guests they
each have to serve
so the less time it takes

T 300 100

45 15

6 3 minutes

Mass Density x Volume

1 25 10
6 106

I m I ooo ooo cm
I 25 Kg

92 382 1525
7 412 1681

I 525 71681
Does Pythagorasapply so not right angled



Name: ______________                                    5-a-day                                      Foundation Plus

3rd August                                                     

Solve (x + 3)(x + 5) = 0

Mrs Reed buys a car costing 
£11760
This cost includes VAT at a rate of 
20%.

How much is the car without VAT?

150 students visit a school canteen.

Some students have packed lunches.
Some students have a cooked lunch.

56 out of the 89 students who have 
packed lunch are female.
There are 72 boys.

Work out how many females have a 
cooked lunch.

�
Calculate the area of the sector
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Either set 3 0 x 3

or 2 5 0 2L 5

11760 1.20

9800

Packed Cooked

Boys 72
Girls 56 220 78

89 150

22
Two Way Table

Tr Z x 80
360

IT x 92 X 80
360

56.5cm



Name: ______________                                    5-a-day                                      Foundation Plus

4th August                                                     

Find x.

Solve the simultaneous equations

2x − 5y = 1
8x + 3y = 27

Find the volume of a piece of wood 
that has a mass of 600g and 
density of 0.75g/cm³

0.84 has been rounded to two decimal 
places.

Write down an inequality to show the 
range of possible actual values.

Solve
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2x 4K 18 3

7 3 2 2 9
3K 21
K 21

7 3 4 18 3
2 7

Sin O
H H

Sinai 4.5
5 7

x sci as 5 52.10
Sos for gin
8 314 27

48 203 4 82 27 3

23g 23 ya 82 22,1

600
0.75

M 800cm
D

0.835 E X L 0.845



Name: ______________                                    5-a-day                                      Foundation Plus

5th August                                                     

Write in standard form

0.0000000000034

In the space below, draw a 80° angle.
Construct the angle bisector.

The circumference of a circle is 
60cm. 
Work out the area of the circle.

 A rectangular field is 20 metres 
longer than wide.

The perimeter of the field is 280m.

Find the area of the field.

Write in standard form
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1.2 1010
3.4 10

12

Area R2
Z

Z tr Go T x Y
r 60 30 286 cm

Zet IT

4kt 40 280
Ax 280 40
4K 240

Ct 20
Xt2otx x 2440 60
txt 20 1 280 Area 80 60 4800 m



Name: ______________                                    5-a-day                                      Foundation Plus

6th August                                                     

Solve x² + x - 6 = 0

ξ = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}
A = {numbers less than 6}
B = {prime numbers}

Draw a Venn diagram for this information.

Calculate the volume of the sphere.
Give your answer to 1 decimal place.

�

�

Describe fully the single transformation that maps shape B onto shape A.
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x 3 x 2 o

x 3 0 x 3

or x 2 0 x 2

Enlargement scale factor 4 about 7 6

A B E
I Z 8 g3 it4 5 10

G 12

ajit r 3
a
g
IT x 11

5575.3 cm



Name: ______________                                    5-a-day                                      Foundation Plus

7th August                                                     

Calculate the volume.
Give your answer in terms of π

A light flashes every 50 seconds.
A buzzer buzzes every 3 minutes.

They both operate, how long until 
they both operate again?

Calculate the density of a piece of 
wood with a mass of 80g and a 
volume of 90cm³

A ladder is placed against a wall.
To be safe, it must be inclined at 
between 70⁰ and 80⁰ to the ground.

Is the ladder safe?

Calculate the length of the ladder. 
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6cm

V IT r h
V it x62 6

216 it cm

50 100 150 200 250,300
350 400 n

180 360 540 120

9005 15 min

Density 80
90 91cm

D M 0.889 glen
v

C una_ 5.8
1 5

A tailsO
0 75.50 So yes it is safe

Pythagoras 135.89

si I 52 5.8 X 5.99 m

ya 35.89



Name: ______________                                    5-a-day                                      Foundation Plus

8th August                                                     

Can you spot any mistakes?

Four chairs and two tables cost 
£218.
Six chairs and seven tables cost 
£587.

Find the cost of buyings twenty 
chairs and five tables.

A cube with side length 8cm is 
placed on the ground. The pressure 
exerted on the ground is 4N/cm².

What force does the cube exert on 
the ground?

Calculate the surface area

Express in terms of a and b the vector

�
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Gw t 18 2W 10

4W t 28

85 520
4 C t 2T 218 T 520

GC 1 7T 587 g 65

3 12C t G t 654
Sub 4L t 130 218

4C 88 c 22
XZ 12 C 1 14T 1174 20C 5T 20 221 5 65 1765

JE ion AT
E t k

p F
A

4 F F
8 8 64

F 4 64 256 N

2trht2tTr 2,1 5 12 t 25 52
curved 534cmSurface
bothends



Name: ______________                                    5-a-day                                      Foundation Plus

9th August                                                     

Calculate the perimeter of this quarter 
circle

The mean of four numbers is 10.  
Three of the numbers are 9, 11 and 7.
Work out the fourth number.

Factorise x² + 10x + 9

Match each of the following

�
Find the output if the input is 5
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Zar r tr
4
2tx5 51 5
4

17.85cm

91 11 7 27
40 27 13Mean 10

so total 10 4 fourth is 13
40

5 14 12 485 or 5

xtc octa



Name: ______________                                    5-a-day                                      Foundation Plus

10th August                                                     

There are 4000 sweets
How many are purple?

   

     �

Solve

�

�

Complete the table of values and draw 
a graph

The table shows the probabilities 
that a sweet taken from a jar will be 
red, pink or purple.

�

�

Simplify
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4000 X 0.35

1400
I 0.4 0 25 0 35

Gase

y
8T K

6

4

I I o l c
z i z 2C

z

4
8 I O l 8

6
x 8

19k 38
x 38

Tg T2
Susi 18 159 3

x5 Ion 15g 35 15g 15
x3 9 153 3 I y I


